QUANTITATIVE APTITUDE
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Cuattitabive Apititude is a part of verbm
reasoning which requires the ability to reasnn with
finzhers and digrams Involving aumbers,

Giraphs are the important concepr which
provide comparizionps are trends in sislistical
information. There are many fype of grapha, The
mast commenly ased craph are given hers,
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s used o show wends pver 5 period of
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This graph shows monthly sutput,
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HAR CRAPHS
It is 1sed to compare variows quantifies.

BE *

gh shows monthly expunifitnre.

CIRCLE DR FIE CRAPHE

It ig used to show the relationskip of various
artz of a quaniity to each other and o whelc

quantity. Fercentage are ofien vzed in {his praph,
3607 nf the circle represent 100%.
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Ciraph showing production coat of production
grd selling income of a drug company from 1991
10 190,
1. In which year wiw the ouiput Jowest b
lurmcever in nipees Sie waxinum 7
{ah 1995 (&) 194

MULTIPLE CE

Mireetion 1 fr each of the following sovi
rumber iv given. Find cul that pumber.

1. 34,817 32,58 %4
ta) 4
it T
ey 5B

2z 5,8 152543
{u} B *
(). 25
e 18

LR 5 5 630
(@) 3 (6
(o b5 ih 45
(@) 13%

{e] 990 ) 1993
2. whith vear way e least profitable from the
fisral point of view ?
{ur 1094 (A 1995
(e} 1906 (ef} 1993
3. Calcalate pross profit i rupees gained during
1952,
{w) Rs 10,800 (&) Rs. 15000
te) Rs. 27000 {cf) Ra 37,004
4. Which your registered madiminm growii

turnover?
(af 19992 [H 1904
{c) 1993 (d} 1906

& Whith of the following yeurs hgg
nepative groweh a5 comparad
(o) 1992 Y
() 1994 :

. In which year v
vis-a=vis mpal usg

presce i the menulaetaring
$ 1991 produciions,

{f) Ra. 1H{0H)

{) Re 19.60H)

4, L5010, 37, 91,216, 432

{uy 5 (k) 10
{) 37 {9
{z) 2I&

5 2,3,7,13,16,47, 78
{a) 3 ihy 7
() 13 (o) 26
{e) 47

Direction @ m each of the Jolfowing guesrions
et onr whar shardd enme In plare aof thiv guestion
merrk.

by 10
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13,

14

{) 7 L) 3
{e) Nohe of these

e of B0 - 31
far) 4 {hy 40
fer} 256 (:h 256
e} Nooe of these
E~-:- i‘xl &
E S

I 4
(@ - G

o 4
ferd a (N 3
{ed None of these
S+ 189 =
{r1) A9 {£) HE3
) 16 () 233
(#) Mons of theage
?IE = (LS
%
{a) 0.5 (4 D.6IS
() D.0623 {ef) 23
&) Mobe of these
16% of 16% of 250 -
for} 2.4 (4 5.1
fc) 64 {fy 8.1

=0l =1 tadtel=

(i (hy Do |
(v 00098 [} DOUGRE
If 50 men working 5 b

pieee of wark in 10 dgts
ean 80 mten do three,
1) hwssirs. a day 7 9
[y 3178

{E‘.’:I 5'.!;’1'5

B 2 d .; do a
] cwgmun}f days

Work by working

(" 6.1/4

% 938
i 4 days wd B in § days.
of e worl s dene only by 8
W halt only by A, When the first
s done, there is a gap of one doy
before 4 startz the work W0 how many days
will the hall B built ?

fu) 2 ) I

15

16,

ET.

21,

22,

t
{c 42

i

What pereentaeze iy cquivilenl to 3R 0

t
[Li'} Eﬁi o

) {
fe] 37 %

Kemla has 3 rupees more than Laving o
rupees more that Bala, The total,

ghare 7
() 5
fcy 7

Tlos rgties bestwesn X and

Fand 74 : 5 What gF
29 4

(o) S8

ey 1114

(¢} MNone of these
3?0087 23 1887

fery 2539

() 1E.359

(e} None o1 thia
2 -5733 =3 10
18377

(e} 15.36T

fe'y MNone of theye

]
() 33

(o) A5%

ing Ffrom A to 3T

af 4 ;5 6 What will
ptirte taken by them 7

AR HE PR
{ef) 163536

{4 1002
() 12

16) TR
() )

(4} 8.764
td} 17.569

{&) 15.377
{efh 6267




FAR

Birection ¢ Fond ik e approximate value of yeu

2o

—e- + - '_’

65 3

Lt S {b) 205
TOREUE (e 2045

(et Mone of these

witl peed sy cadvatate the exaet valse of 9.

i,

27,

.

'3‘"1‘

A

iy el

{a) 213 by 113
lep /5 {d) 34
fe) ifd
AR AT =9

fa) 95 (4} 90
£ 11d () 15
(=3 V2%

Gor 238 % 0125~ 745

(o) B0 {#) 650
(el 150 e 50
(2} %50

3042 1 A% G

fu) 75 £y 90
) 97 (h 17
{e) 07

il af 710 -8

{e1 250 (F1 5%
(c} BOO () 325
{c} B3

l.:r&m:d by

The imeome of W owas X
' st wen hifs

Wa. IF his income nosy
arigingl ingemsa ? L

Xy
{eh oo
i ¥ L () P X
004 oxp pereontags i

thy kg

i1 16W (@) 25%

The pra of A aqaure (5 594 sq. dom. What is the
teaageth ol Hs <linginal in km. ¢

(2 B £ 102

7.

1+ F 1 F-ed ELLUE S L
A tap can AlE o sk in B hours, A drain can
ety i m A& s, The tank is hali full, Bath
tite rap anad the drain are opened. s bow srany
hiours will it be wially cpptied ?

{a) B (A B9
{cr L2 () 15

33, {1 X gets 200 ivss than ¥, ¥ geis-+—=% (han X,
{1 15 (hy 20
{ci 25 (o} 27

M, J5ef 24=-80f 0=
fay F34 by 23k
(e} 134 (e 173

35, A man ptamts 15625 apphe trees in hix pa
and artrages Uiene s thal Ui, as Hpuny
rows a3 thore arc opple trogs e Fow
Fhan the wmber of rowy
f) P25
(e KO
(e) MNoune ol e

3G, O tlee {ioee ogBnt 15 twine the secomd

3g.

39,

40

third, The averrge of
1 #md the [prgest epmber

1

() K
ted) AR

LCGF of two pumbers i 11 and thedr
M. iz IO I one of these numalerg i 273,
i'n the ather is

(fy IR

{c} 3oa (L R

{e} Mone of thess

The sum of twe numbers is 328 and theivr H.CF
i 33. The number of pairs of numbers astisfying
thiv condizions.

{ul 16 (hy 12
{vy 4 () 4
{v.} Mone af {hes;
The value of o |

¢ value of " i
{41 3 (k) 13
(&) 30 () 00

(e Tdoimee o0F 1 Hiesses
24 men working at 8 honrs 2 day can fmish 2
work in O days. Working at a rate of 10 hoare




4E,

41,

43.

44

435,

1.

17.

a day, the rumber of men required do finash the
sarne wawk e 6 day iz
() 10

e} 34

fe} Nene of these

(b} 32
(i 36

. ]
A sum l::wnrn:-s R M750 m 2 5 years ai {he

ratc of 3 Y. What is the oviginat sum ?
(] IS, IEl'! thi Bs. ERU

(e} Re 200 (efy M5 210

(I afbly =7

{e) (14" ) ey

(e} (10Y Lt (227

Ratiat for 50 solders for 30 days s stored a2
ey, After B3 days 54 more soldigrs come 1o
the saonp. How many davs wibl o last 7

i
(@) 7

days
2}'

thy 15 davs

() 723 days g
G590 15 155 1 5=7

3 doys

() ”"al' )

() W‘:? {ah
17.53%%al 71 s

{a) 21.25 {5)
(e} 1242 {uf]

days, Flow long will it tak
topsther 7

fut 2; days

1) 5_—: 1]
A school

hese clagses are 1G, EU fkre] H}
Thr.*t'l the pass percentage ol the
xehoal §5

i

() ”‘; {4 15

2
TS
() f

(e} Wong of these

{dly 20

48, A car coh Foish o certaip journey i 10 houes

45

ik

A o speed of 43 kovbowr, in order to cover thi
same distance in § hours, the speed of he cor
st Bz incresel Ty
(3l & km'hr

el 12

(e} Nuooe of dwse

A tin nl oil was 455 full When slx goitlos
ol were faken oad A Dan bodd ey o
poured ineo it it was 304 Full. Hgw reai
ef vif can the tin conain 7? é
ferd O
(= 30
(1 Muowe of thes
A wnd 8 inve
prrofe wli
their inves

by 7.5 krvhr
el 13 ke

ey earped some
Iuaf

el Im dhe mlin 2

(b} Ra &0

fah Rs. 200

# of these

gight and the rading of the hase o7 s oone
cgch increased by 100G The wnlume of
Ahe new cone hecomes how many times the
volume of the original cone ?

{a} ¥ limes (B} % iy

{o) A times Eefy 3 Enerees

{1y Mone of thegy

. A man boughe twi hotses for Rs. 100 each He

s ore harse ar a profil of s and the other
at o loss of 10%0. What was his gain or Toss ?
{or} Meither pain noe bosy

{y Losy of 5%

|
() Fasss aof 15%

!
{t Gam of 2 2%

. A mon travels from Peint A4 to Point £ anpd

retorns ko A, While going to F bis speed i 40
ko per hour. On his retuen joumey his speed
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55,

¥R

58,

59,

5,

15 M0 kmpst Our, What s his average speed 7

() M !

2
142
7 1) ?

& 3% ) 35-;-

A pives Eg 5000 a5 loan (o B on $ingle interesdt
tor res year @0 5% 7 gives #3 5000 m D on
campoand interesl For one yeor & 3%. What i
the differenes hutween the intorgy 1

fo) Hs 12,50 (& Ra. 625

ic) Bs 5.00 (&t Mo diffcrence

The diagonel of a square iz 16 melres, What is
the area of the square 7

(o) 50 3g. motres

(&1 0.1 s, metres approx,

(c) 75 sq. meotres

i) 1) sy, melens

ix, 4008 will become Bs. 500 in. .. . yesrs
at (@ 5%

{ay 2 oy 4

ic} 3 Ef b

If the radiis of 2 vircle is increased by 1008,
the azea is increiwssd by
e} 20004

{e} 400

i) None of these

A man sells 2 hotses at the same price.
e makss a profit of 10% and on th
lozes 144 o the whole, he &
{a} mokes no profit, no losa

fh) mokes aprebht of 1080
f2) suffersalosan 519
{d) suffors a logs ef 24
f£) none of these 4
In an examinabigy
apbetrod, SO0 &

(4 0%
{«) 200 %%

D bifes and S0 girls
poys and 4% of the

Eirls pacssd : nﬂ of fatled eomglalate;
in '

) 4 {6} 2

{c) {d) 392

(¢) Mona of ke
The difffetence n cimple and compagad

interests tn1 & corlatn sur of money in 7 years

6L,

2.

BS,

4,

A cistern which has ¢ keok in the bottom is

at |5% per annaen 3 Bs, 143, The sum (s Rs.)
i

{m} A000

fv] E300

te] Mone of theze

fe) 6304

fillad i 35 howrs, Had there been na leak, it
coakd have been Filied in 17 hours Tf the clstern_
is Fandl, Lhe besk can einpdy i in
{2) 2 hiwrs (0 32 howurs
() 15 by fefy G hosery
(&) MWnne of these

A man invests on an amount of Bs 15 S
the manies o iz three sons A g8 £ g such
a wav Lhat they got the sam

artd 4 yeary respectivehy
lateresd i 5%, then il
invested gmong dg
{2) 105208

e obghese
Gt the disiance that s car runis of ohe
i petrol varies inversely with fle square
he'speed at which W is driven. 1t gives a wn
% hiloeneslers, per filre wl 2 speeed of 340 Tiw
Ser howr. At what speeet showld it be driven to
2et o ren of 16 ke per Yire 2

F
171) Zﬁ; ken/ bi (4t 23 fenvhy

(e) 46 kmihr {(d) 422 kmihr

L&) MNonaof the these

I @® = 3M ileen the ratio of b+ 3 1o Jo+ 58
is

ey 1:2 (by 2:5

tr] TR ff} 1116

(2] Wone of these

we

sxt

bar) Bt (b 220

e} a' fa) 2+

The arsn of b cirgle macribed in an equilaremi
frigngle ie 154 om® ¥ind the perimeter of the



&Y.

&8,

a4,

0.

LE

12 &

73,

Lianghe

) '.?21'5 in

{2y T

e} Mot at thess
The dinteter at 2 sphere i 0 om. [ {2 mehed
and drawn inlo 3 wire a1 dismeter 3 en. Find
the Tempih of 3 wire.

ia} 26.9m {37 S em

[y 280 em i) Moge ol These

A hemisphatical bow! of rsdlius 7 8 filled with
liaid the contents are wa he iransferred into
conica; vessals gael having it boighl md basc
radivs euusl to o The avmber of vessels
requ ired i

) |

13 3

fey e of those
1€ e lenpth of o roctangle is increased by 30%
and the breadth is decressed by 13%. The
percent inemase i the ares of the rescmngle i
(b 4.5 & 2.3

fv] 35 (o] LS

(v Maons o these

A Tehl ciccular cylinder and a sphere are of

(o} 123em
L FEA om

ihy 2
) 4

cqual volurmes and their cadil are alsn equsl.

5 is the heigh ol the cylinder and o §
rdiameter of (he sphcre, then whish |
fuliowing relatiin is correet? :
() h=d by 3b-d
(¢) 2= %f ) 3k
()} Mone of thes

The maximmm volUnc g

nc_that can e

carveek oud of a solid h of radiug ¥ i
equal bo :
(ot mr’ e

£y 203n? _

a5t 0 i3 equal to

(e 7 {b) 47
243
147} ETH
The valme of (1 + tan® 397) @
{7 1 (kY L3

14,

75,

7.

7T

19,

L 4

(9] 7 {ef} 3

Fs=aowes 8+ bsin Band v = asit 6-h cos
then &% & @ 15 egual
) u - R

oy ot iR

() b -t
T L

T
ff sccdw 6- _then 9 cat L

{en) st and fonmih gladrant
&Y seeond amd Heed quadizet
(v} thied and fourth quadrani
{ehh first and gozond guadrant

1f sce = anfl =1+ v'_.l LY
(g1 1

Wy 3

If the argle
shistance of 30 8

the lower af @
tthe pioet of olsereds
e fowe 15

i /3 melers
1t 156 metars

tmeters

staff is stonding, veutically an a hotuacntal
' 1 a man oit the grood and 28 @R
ay From tha foot of the Nag staff femaeact the
‘angle of elevation of the top of the flag staff 1o
be 50° then the height of the flag staff is

() L3 () 5’5%3— m
1) ﬁ:}{'}* m [} Mone of thess

The cosl price of |0 articles is agual to the
axiling price of 7 artivles Find the gain o
Ioae [wer camt.
fer) 51% gain (ft 35% gain

il 422‘% gain ey 3% hoss

The raiin of speads of hwo wains, ane travelling
at 40 ken/tr and the other ot 18 m/sec is

[} 54 B 2.3

) 3.4 (o 4.3



AL Cokd s 19 times as heavy s water and copper
S48 Y times as heavy as water. In whar ratlo
shoukd these be mixed to pet an alley 16 times

as heayy s water ?
fu) A:5 i 5:4
{e} 3:7 i 7:3
¥ A fraction is such that if the numerator is
malipdied by 3 and the denomizator be reduced
by 31, we pel 1811 but f the numcrator s
Irereased by ¥ and denominetor i5 doubled, we
bt i35, The fraction is '
lnd 13725 (5] 13717
wy 115 (@l Mo of these
B3, Hu=27 b- 31, = - 5.8 then the value of
e B e b s
fay 0 By 1738
iy 789 {tf) Mone of thage
B i s Jooo - 20 =7
w 0 i# 1
() 2 fa 3
85, The LUM of 24, 4, 56, 70 s
(e} R (b 480
iy 6en (&) HNone of theps
L+ 1
Rh. The valye af ?;TI“;E% is
1 &+
- At
) 2 L K4
oA
fed 2 {fu) Mgy of th
1 al. TR = 3
- {685+ 4(B) + A3 . o
GHAxORS + 4 M xd
fuay 2
fv] 683
Rn_ '_.'r!-‘- -+ 3:1-
{2] 2%
ey 1% {dy 16
89, A ady has anly 23 paive and 50 paize coins in

her purse. If in alf, she has 40 ciing ramslling
5 12 734, then the number of 50 paise coins

01,

nl.

95,

o The present sge of & falher is 3 years more

i%
{2) 15 (5 17
() 1 (o) None of these

than three (rmes the nge of his son, Three years
herce, fathers age with be 10 years more than
wice the age of the son. The father's prescnt
ape ix
() 33 yeary (b} 43 years
() 39 yenrs (el Notie of theyd
¥ x s 20% more than p then 318 hiow mk
cenl less than & 7

?
() 6%

(&) 200
tor what valize of &
divisihle hy 1t
(o) 2
fel 3
 the dja )
cm respectively | is
(hy 1Z2om
(4 Bem

Anfillest mumber peeded to be added 1o
160 i order o make it a perfoct aguane

(&) 4
iy 9
(6.3)7 + +/. 121 s equal to
1)
)] HI—-I' {b) FII—I-I
o 9
oh T (@} Tin

in a box there are ops rupec, 50 paisc and 25
paice coing, The total pumber ot such cains is
340. If the ratio-of ihelt vatoe be 5 ;4 ¢ [, thas
the number of one rupee, S0 paise 2nd 25 paive
coins in the box ane respectively

{a) 50, 180, 100 (6} 100, 160G, 80

{c) 160, [0, B0 (109, 80, 16D

#am sold 3 cow o Rahim at 0% profit, Rabim
sald il o Rubert at 259% profit. 3F Robert paid



Ry W] then Ko hsd perchesed ke cow {dn ] 100, 203 Hiree of miviores of mitk znd waler

Hapees) coarlzims V% of water, Fiow rraach wester i
(e} &0 by 1D be added fo make He water 2085 b ihe Bew
fel TR () 800 reinbarg ?

7. A sum of money depotited a1 componnd interet {1 1t libres (1 3 Rires
daublas Teself in 4 pears. [0 WU amount to

) . . (v} & fines (o) 3 Hrres
stxteen Hmes al the sami: rale n .
) . . VO 95% of students were present in a schoal gy
ferd 12 wears () 16 years 1% students wern absent. Ui ot 5 14
(e} 24 yenrs {d) 30 yoars ! ; udents werr absent. The numbor is
94, the eprmtainder when 320 x4z | s divided L
byxu- ] i {ﬂ] 530 “ﬂj WALE :
fery ~10 by 2 {23 400 {dy Mone of Wgse b
) ~1 FLARERY Hid In nn eleciion 000 vires ayare o aml
94, L2 AR B Y22 M. are nmie oF Ui o ceilicatesd g Vils. Then
ta matdrnd peambers by how many yotes by ol
£hy odd maturz] pumbers (a) 1200

{r} prime nnmbers
ift even newral pambes

160, Find the missing numbrer in the given series 13, : : :
L 23, . oer azain. The numiur b

£ I LH __ oRg of thease

far] 14 {5 20
ey 16 (d} 18 iy 250
Los 3 1.+, (e} 104D
1o 154' ] : a2 .,{_2_,, ! Fppuck tea at Bx. 4 a kilogram should bhe
5 “ éd t 15 kilogram a sell at e 10 per kg
(i} 15 3] E_IE 44 [0 make the minture worth Ry, b5 par

kp't
fa) 10kg (&) 4ke
i) 1akg () 20 kp

Answers

L fa 7 8 4 10
1) (d} by (o) {<} {c}
5 16 7 15 ty 10
{c) e i) e} 2] (T4}
% L 7 = 24 0
1] {a} (2} iy 1) i}
35 36 37 ax 39 40
{e} {e) () {ef) fa=h (k)
45 A6 47 48 54 i

) {4} i) fe) (cd) 1)
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{a}
&1

{a)
4|
i)
]

{d}
o1

{a)
1]
{I}

a1
{arh
62
{h
T1
{en)
a2
{2)
b ¥
()
2
{h

53
{&3

(3
T3
(e}
B3

)

(o}
103
(chy

L7}
{ah
b4
i)
Td
)
7]
{a)
4
{5}
104
)
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